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QUESTION 1

If OCh trails fail to be created by trail, which are possible causes?

A. There are still alarms that are not cleared on the boards involved in the OCh.
B. The wavelength settings at the source and sink ends are inconsistent.

C. Some fibers are not connected.

D. There is no server trail.

Correct Answer: D

QUESTION 2
Which of the following statements about AU pointers are correct?

A. The root cause of the AU pointer justification is that the clocks of the upstream and downstream stations are not
synchronized.

B. AU_PTR indicates the position of the JO byte.
C. If the receive end detects that the H1H2 bytes are "1", the local end generates the AU-AIS alarm.

D. The value of the AU-PTR pointer is placed in the last 10 bits of the H1 and H2 bytes. Therefore, the valid value of the
AU-PTR pointer is 0~1023.

Correct Answer: C

QUESTION 3

The causes of discrete services are as follows:

A. The cross-connection configuration on the NE is incorrect.

B. The logical fiber connection of the NE is inconsistent with the physical fiber connection.

C. The configuration data on the NE side is not uploaded to the U2000.

D. A subnet service whose source or sink port is not in the management scope of the U2000 is available.

Correct Answer: D

QUESTION 4
Which of the following ROADM boards have WSS optical modules? (Choose two.)

A. RDU9
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B. WSM9

C. WSMD9
D. WSD9

Correct Answer: BD

QUESTION 5

The OD system monitors the main optical path performance in each optical multiplexing section (OMS), which of the
following items are monitored?

A. whether the line loss exceeds the design end of life (EOL) value

B. whether a fiber cut occurs on the main optical path.

C. whether the optical power of the transmit-end OA board is out of the permitted range.
D. whether the line loss compensation is out of the permitted range.

Correct Answer: A
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